

Exercise 9(A)

$$5) [18 - (15 \div 5) + 6]$$

$$= [18 - 3 + 6]$$

$$= [18 + 6 - 3]$$

$$= 24 - 3$$

$$= 21$$

$$6) [(4 \times 2) - (4 \div 2)] + 8$$

$$= [8 - 2] + 8$$

$$= 6 + 8 = 14$$

$$= 14$$

H/W

Exercise - 9 (C)

5-i) 1332 - Yes

$$5 + 1(3+2) = 10$$

53247 - NO

$$5 + 1(3+2+4) = 14$$

4968 - Yes

$$4 + 1(9+6+8) = 18$$

200314 - NO

$$2 + 1(0+0+3) = 5$$

$$10 = 0$$

7-i) 5080 - Yes

$$8 + 1(0+8) = 16$$

66666 - NO

$$5 + 1(6+6) = 12$$

$$11 = 8 + 3 = 11$$

755 - Yes

$$7 + 1(5+5) = 12$$

9207 - NO

$$9 + 1(2+0) = 11$$

$$10 = 9 + 1 = 10$$